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Outline of the Course

* Part O: Overview - Part 3 Data Storage & Indexing
- Lect. 1 (Feb. 29) - Chl: Introduction - Lect.7 (f\&pr'. 25) - Ch12/13: Storage
. tems & structures
= Part 1 Relational Databases 5YS . .
- Lect. 2 (Mar. 7) - Ch2: Relational model - Lect. 8 (May 3 -> Apr. 28) - Ch14: Indexing
(data model, relational algebra)  Part 4 Query Processing & Optimization
- Lect. 3 (Mar. 14) - Ch3&4: SQL - Lect. 9 (May 10) - Ch15: Query processing
(Introduction and intermediate) - Lect. 10 (May 17 ) - Ch16: Query
- Lect. 4 (Mar. 21) - Ch5: Advanced SQL optimization
Par'f 2 Database Design * Part 5 Transaction Management
Lect. 5 (Mar. 28) - Ch6 Database design - Lect. 11 (May 24) - Ch17: Transactions
based on E-R model - Lect. 12 (May 31) - Ch18: Concurrency
- Apr. 4 (Tomb-Sweeping Day): no course control
B laig:rgr? (Apr. 11) - Ch7: Relational database - Lect. 13 (Jun. 7) - Ch19: Recovery system

Part 6 DB Systems & Course Review

Midterm exam: Apr. 18 - Lect. 14 (Jun. 14)

Final exam: 13:00-15:00, Jun. 26




Tables of the University Database

ID name dept_-name salary
22222 | Einstein Physics 95000
12121 | Wu Finance 90000
32343 | El Said History 60000
45565 | Katz Comp. Sci. | 75000
98345 | Kim Elec. Eng. 80000
76766 | Crick Biology 72000
10101 | Srinivasan | Comp. Sci. | 65000
58583 | Califieri History 62000
83821 | Brandt Comp. Sci. | 92000
15151 | Mozart Music 40000
33456 | Gold Physics 87000
76543 | Singh Finance 80000

Instructor table

00128
12345
19991
23121
44553
45678
54321
55739
70557
76543
76653
98765
98988

Zhang
Shankar
Brandt
Chavez
Peltier
Levy
Williams
Sanchez
Snow
Brown
Aoi
Bourikas
Tanaka

Comp. Sci.
Comp. Sci.
History
Finance
Physics
Physics
Comp. Sci.
Music
Physics
Comp. Sci.
Elge. Eng.
Elec. Eng.
Biology

ID name deEt_name tot_cred

102
32
80

110
56
46
54
38

0
58
60
98

120

Student table




Schema Diagram of the University Database
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E-R Diagram for a Banking Enterprise
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The Banking Database Schema

branch = (branch_name, branch_city, assets)

customer = (customer_id, customer_name, customer_street, customer_city)
loan = (loan_number, amount)

account = (account number, balance)

employee = (employee_id, employee_name, telephone_number, start_date)

dependent_name = (employee id, dname) (derived from a multivalued attribute)

account_branch = (account number, branch_name)
loan_branch = (loan _number, branch_name)

borrower = (customer_id, loan number)

depositor = (customer_id, account_number, access_date)
cust_banker = (customer_id, employee_id, type)
works_for = (worker_employee_id, manager_employee_id)

payment =(loan_number, payment _number, payment_date, payment_amount)

savings_account = (account number, interest_rate)
checking_account = (account _number, overdraft_amount)




& Relational Database Model
- The structure of a relation
- Relational database and
- Keys
- Database schema
- Relational Algebra
- Relational query languages
- Relational operations



An Example of Relation/Table

ID name dept_name salary
22222 | Einstein Physics 95000
12121 | Wu Finance 90000
32343 | EIl Said History 60000
45565 | Katz Comp. Sci. | 75000
98345 | Kim Elec. Eng. 80000
76766 | Crick Biology 72000
10101 | Srinivasan | Comp. Sci. | 65000
58583 | Califieri History 62000
83821 | Brandt Comp. Sci. | 92000
15151 | Mozart Music 40000
33456 | Gold Physics 87000
76543 | Singh Finance 80000




Basic Structure of a Relation

Given sets D,,D,,---,D,,, a relation r is a subset of D, XD, x ---x D,,, i.e., a
set of n-tuples (a4, a,, -, a,) where each a; € D;(i = 1, ...n)

h-tuples: nytZ
Eg., if P Jes

customer_name = {Jones, Smith, Curry, Lindsay}
customer_street = {Main, North, Park}
customer_city = {Harrison, Rye, Pittsfield}

then
r = {(Jones, Main, Harrison), (Smith, North, Rye),
(Curry, North, Rye), (Lindsay, Park, Pittsfield)}
is a relation over customer name x customer_street x customer_city




Attribute ([E1E)

Each relation consists of a set of attributes A;,4,, ..., A,

The domain of an attribute is the whole set of available and legal
values of the attribute
Attribute values are (normally) required to be atomic (JRF1%)
- Multi-valued attributes and composite attributes are not atomic
- ZERY: BiESHE, EaEM: BEiE
The special value null is a member of every domain. It may cause

complications in the definition of many operations

10



Relation Schema (GRFEI=RT\)

e Ay,A,, .. A, areattributes, and R = (4,,4,, ..., A,) is a relation
schema,

* eq.,
- instructor_schema =(id, name, dept_name, salary)
- customer_schema=(custom_id, custom_ name, custom_ street, custom_ city)

e« r(R) is arelation on the relation schema R,
© eg,

- instructor(instructor_schema)
- customer(customer_schema)

11



A relation instance corresponds to the current values of a
relation, which is specified by a table

An element t of r is a tuple (Jt#H), represented by a row in the

table

Relation Instance (3&Z5Lfl)

_ Attributes/Columns

ID name dept_name salary

22222 | Einstein Physics 95000

12121 | Wu Finance 90000

32343 | El Said History 60000

45565 | Katz Comp. Sci. | 75000

T |e R 98345 | Kim Elec. Eng. 80000
UP S/ ows 76766 | Crick Biology 72000
10101 | Srinivasan | Comp. Sci. | 65000

58583 | Califieri History 62000

83821 | Brandt Comp. Sci. | 92000

15151 | Mozart Music 40000

33456 | Gold Physics 87000

76543 | Singh Finance 80000

12



Relation vs. Variable

» Relation schema vs. Variable type
- Relation instance vs. Variable value

* For example
- int  vs. customer_schema =(id, hame, street, city)
- int A vs. customer(customer_schema)

- A=10 s,
Jones Main Harrison
Smith North Rye
Curry North Rye
Lindsay Park Pittsfield

13



Relations are Unordered

+  The order of tuples/attributes in a relation is irrelevant. Tuples
could be stored in an arbitrary order

- E.g., instructor relation with unordered tuples

1D name dept_name salary
22222 | Einstein Physics 95000
12121 | Wu Finance 90000
32343 | El Said History 60000
45565 | Katz Comp. Sci. | 75000
98345 | Kim Elec. Eng. 80000
76766 | Crick Biology 72000
10101 | Srinivasan | Comp. Sci. | 65000
58583 | Califieri History 62000
83821 | Brandt Comp. Sci. | 92000
15151 | Mozart Music 40000
33456 | Gold Physics 87000
76543 | Singh Finance 80000

14



& Relational Database Model
- The structure of a relation
- Relational database
- Keys
- Database schema
- Relational Algebra
- Relational query languages
- Relational operations

15



+ A database consists of multiple relations
Why NOT use a single relation?

- Storing all information as a single relation results in

- repetition of information, e.g., one department has many students,

record the information of both department and student
- the need for null values, e.g., represent a customer without an account

How many relations should have?

- Normalization (#;84¢) theory (Chapter 7) deals with how to design relational

schemas
16
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E-R Diagram for University Database

ID name dept_name salary
22222 | Einstein Physics 95000
12121 | Wu Finance 90000
32343 | El Said History 60000
45565 | Katz Comp. Sci. | 75000
98345 | Kim Elec. Eng. 80000
76766 | Crick Biology 72000
10101 | Srinivasan | Comp. Sci. | 65000
58583 | Califieri History 62000
83821 | Brandt Comp. Sci. | 92000
15151 | Mozart Music 40000
33456 | Gold Physics 87000
76543 | Singh Finance 80000

Instructor relation
17



custorner-riarne

customer-street

custornier-city

Adams Spring Pittsfield
Brooks Senator Brooklyn
Curry North Rye
Glenn Sand Hill Woodside
Green Walnut Stamford
Hayes Main Harrison
Johnson Alma Palo Alto
Jones Main Harrison
Lindsay Park Pittsfield
Smith North Rye
Turner Putnam Stamford
Williams Nassau Princeton

| customer-rnarie

account-number |

The

ustomer Relation

depositor \

| customer

custonier-street

E-R Diagram for the Banking Enterprise

custornrer-city

Hayes
Johnson
Johnson
Jones
Lindsay
Smith
Turner

A-102
A-101
A-201
A-217
A-222
A-215
A-305

The depositor Relation

brarnch-narte

assets

branch

loarn

loan pumber 7> __amount
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& Relational Database Model
- The structure of a relation
- Relational database
- Keys
- Database schema
- Relational Algebra
- Relational query languages
- Relational operations

19



Superkey (#2f3)

- Let K C R, K is a superkey of relation schema R if the values for K are
sufficient to identify a unique tuple of each possible relation r(R)

- E.g., {instructor_id}, {instructor_id, instructor_name} and
{instructor_name} are superkeys of instructor, if no two instructors
have the same name

- If tuples ty # t,, then t{[K] # t;[K]
Candidate key ({&i£#S)
- K is a candidate key if K is minimal
- E.g., {instructor_name} is a candidate key for instructor, since it is a
superkey (assuming ho two instructors have the same name)
Primary key (F#3) / Primary key constraint

- A candidate key is chosen by the DB designer to identify tuples within a
relation 20



Keys (Cont.)

- Foreign key(5MNg/5MB3)

- A relation schema R, may include among its attributes the primary key
of another relation schema R,. This attribute is called a foreign key
from R4, referencing R,

- The relation r; is called the referencing relation (BH8%%) of the
foreign key dependency, and r; is called the referenced relation (#%
ABXZ) of the foreign key dependency

* Foreign key constraint / Referential integrity
constraint (YMELITR/SREEEEM2TER)

- The values appearing in specified attributes of any tuple in the
referencing relation should also appear in specified attributes of at least
one tuple in the referenced relation

21



The University Database Schema

classroom(building, room_number, capacity)

department(dept name, building, budget)
course(course_id, title, dept_name, credits)
instructor(ID, name, dept_name, salary)

section(course_id, sec_id, semester, year, building, room_number, time_slot_id)

teaches(ID, course_id, sec_id, semester, year)

student(ID, name, dept _name, tot_cred)

takes(ID, course id, sec_id, semester, year, grade)
advisor(s_ID, i_ID)

time slot(time_slot_id, day, start_time, end_time)

prereq(course_id, prereq_id)

22



The Banking Database Schema

branch = (branch_name, branch_city, assets)

customer = (customer_id, customer_name, customer_street, customer_city)
loan = (loan_number, amount)

account = (account number, balance)

employee = (employee_id, employee_name, telephone_number, start_date)

dependent_name = (employee id, dname) (derived from a multivalued attribute)

account_branch = (account number, branch_name)
loan_branch = (loan _number, branch_name)

borrower = (customer_id, loan number)

depositor = (customer_id, account_number, access_date)
cust_banker = (customer_id, employee_id, type)
works_for = (worker_employee_id, manager_employee_id)

payment =(loan_number, payment _number, payment_date, payment_amount)

savings_account = (account number, interest_rate)
checking_account = (account _number, overdraft_amount)

23



Determining Keys from E-R Sets

O Strong entity set: has a primary key

O Weak entity set: may not have sufficient attributes to form a
primary key

m Discriminator (773#£F) plus the Key of the identifying entity
set (FriRSZ/A4E, or owner entity set J& X SZ4A%E)

O Relationship set
m Union of keys of the related entity sets
(discussed later in Chapter 6)

24
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E-R Diagram for University Database 25
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& Relational Database Model
- The structure of a relation
- Relational database
- Keys
- Database schema
- Relational Algebra
- Relational query languages
- Relational operations

27



Database Schema

- Database schema

- All the schemas of relations, along with primary key and foreign key
dependencies in a database consist of the database’s schema

- Database schema diagram (f2T{[&])
- A database schema can be depicted pictorially by a schema diagram

28



Schema Diagram

branch (branch_name, branch_city, assets)

customer (customer name, customer_street, customer_city)
account (account _number, branch name, balance)

loan (loan _number, branch name, amount)

depositor (customer name, account number)

borrower (customer name, loan number)

branch account depositor customer

. branch-name account-number customer-name customer-name
Bankmg dCl'erClse branch-cily {—I— branch-name <—I—amnmHumber customer—street

balance customer—city

Y

assets

Schema Diagram (&)

for' The bank'"g loan-number <_| customer-name
enTer'pr'ise branch-name

loan borrower

loan-number
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« Relational Database Model
- The structure of a relation
- Relational database
- Keys
- Database schema
% Relational Algebra
- Relational query languages
- Relational operations

31



Relational Query Languages

*  Query Languages used to request information from the database
- Imperative languages, functional languages, declarative languages

- Categories of languages
- Procedural
- Relational Algebra (XZf{%}) : functional language
- Non-procedural

- SQL (ZHMEEIFIES) : mainly, it is declarative, but it also has
imperative, functional features

» Tuple Relational Calculus (FTTHXFREH)

- R-S={t|R(1)A1S (1) }, RUS={t|R(t)VS(1)}
- Domain Relational Calculus (k&K EE)

- {<A, B, C> | <A, B, ¢> € Student /A C = "Monitor" }

32



« Relational Database Model
- The structure of a relation
- Relational database
- Keys
- Database schema
% Relational Algebra
- Relational query languages
- Relational operations

33



Relational Algebra

A procedural language consisting of a set of operations that take
one or more relations as input and produce a new relation as the
result

Six basic operations

- Select (%#F); KFikEE, ®FE13/7TH
- Project (i%%2); ERIREE, ®IFF/EHE
- Union ((88%)

- Set difference ((E5Z)

- Cartesian product (FHE/RTR)

- Rename (EfR)

These operators take one or two relations as inputs and give a new

relation as a result
34



Select Operation

Notation: op(r) = {t|t € r and P(t)}

- P is the selection predicate(i5c#%151a]) consisting of A(and), v(or),
—(not), =, #, <, >, <, 2

- Eg.,
A/ B|C|D
A| B | C
a|lal|l |7 b
a| B| 5|7 a|lal|l |7
Bl Bl12| 3 B B 23|10
p| B 12310

relation r O 4= AD>5(T)

35



Select Operation (Cont.)

- E.qg., select those tuples of the instructor relation where the

instructor is in the "Physics” department

- Query
o dept_name= ‘Physics” (mstr' uctor )
- Result
| ID | name | dept_name | salary |
22222 | Einstein | Physics 95000
33456 | Gold Physics 87000

ID name dept_name salary
22222 | Einstein Physics 95000
12121 | Wu Finance 90000
32343 | El Said History 60000
45565 | Katz Comp. Sci. | 75000
98345 | Kim Elec. Eng. 80000
76766 | Crick Biology 72000
10101 | Srinivasan | Comp. Sci. | 65000
58583 | Califieri History 62000
83821 | Brandt Comp. Sci. | 92000
15151 | Mozart Music 40000
33456 | Gold Physics 87000
76543 | Singh Finance 80000

Instructor relation

36



Select Operation (Cont.)

Allow comparisons using =, #, >, 2, <, < in the selection predicate.

Can combine several predicates into a larger predicate by using the
connectives: A (and), v (or), — (not)
- Example: Find the instructors in Physics with a salary greater $90,000

o dept_name= “Physics” A salary > 90,000 (IﬂStf' uctor )

The select predicate may include comparisons between two attributes.

- Example: find all departments whose name is the same as their building
name:

O dept_name = building (depar tment)

37



Project Operation

* Notation: T, 4, 4, (7)

- A4, Ay, .., A are attribute names and r is a relation name

- The result is defined as the relation of k columns obtained by erasing
the columns that are not listed

- Duplicate rows are removed from result, since relations are sets

- E.q.,
AlB|C AlcC AlcC
a |10 1 al 1l a| l
a |20 1 al l = g1
B30 1 Bl 1 Bl 2
B |40 2 Bl 2
relation r Hyc(r)

38



Project Operation (Cont.)

E.g., eliminate the dept_name attribute of instructor

Query:
1_[ID, name, salary (inStr uctor )
Result:

\ ID \ name ‘ salary ‘
10101 | Srinivasan | 65000
12121 | Wu 90000

15151 | Mozart 40000
22222 | Einstein 95000
32343 | El Said 60000

33456 | Gold 87000
45565 | Katz 75000
58583 | Califieri 62000
76543 | Singh 80000
76766 | Crick 72000
83821 | Brandt 92000
98345 | Kim 80000

ID name dept_name salary
22222 | Einstein Physics 95000
12121 | Wu Finance 90000
32343 | El Said History 60000
45565 | Katz Comp. Sci. | 75000
98345 | Kim Elec. Eng. 80000
76766 | Crick Biology 72000
10101 | Srinivasan | Comp. Sci. | 65000
58583 | Califieri History 62000
83821 | Brandt Comp. Sci. | 92000
15151 | Mozart Music 40000
33456 | Gold Physics 87000
76543 | Singh Finance 80000

Instructor relation

39



Union Operation

* Notation: rus = {t|terortes)
- 1, s must have the same arity (EJohY), i.e., the same humber of attributes

- The attribute domains must be compatible (tBZAY)
E.g., the 2nd column of r deals with the same type of values as does the 2nd column of s

- E.g., find all courses taught in the Fall 2022 semester, or in the Spring 2023
semester, or in both:

1_Icour'se_id(O-semester'= “Fall” A year=2022 (section)) Y 1_Icourse_id (O-semester= “Spring” A year=2023 (section))

A| B A| B A| B

1 a| 2 a| l

al 2 ﬂ 3 al|l 2
g1 s gl1| ruUs

r relations 1, s B3

40



Set Difference Operation

Notation: r —s = {t|t erand t ¢ s}

- Set differences must be taken between compatible relations, i.e.,
r and s must have the same arity and attribute domains

- E.qg.,
A | B A | B
A | B
1 a| 2
ol 2 5|3 a |1
1
g1 s p

relations r, s r—s

41



Set Difference Operation (Cont.)

E.g., to find all courses taught in the Fall 2022 semester, but not in
the Spring 2023 semester

1_[c:our'se_id(O-semester'= “Fall” A year=2022 (section)) -

1_Ic:our'se_id (Gsemester-z “Spring” A year=2023 (section))

42



Cartesian Product Operation

Notation: r X s = {tq|t € r and q € s}
- The attributes of r(R) and s(S) should be disjoint,i.e., RNS =@
- If the attributes of r(R) and s(S) are not disjoint, then renaming must

be used

A| B|c|D|E
A| B ¢c | D|E a | 1| a|10] a
a | 1 10| a
a | 1 a | 10| a a | 1 % 20| b
B |10 a a | 1 10| b

B12 B | 20| b 4
10 b B| 2| a |10 a
r /4 Bl 2| 10| a
s Bl 2| plao| b
Bl 2| y|10| b

relations r, s rxs

43



instructor X teaches table

instructor.ID | name dept_name ‘ salary | teaches.ID | course_id ‘ sec_id | semester ‘ year |
10101 Srinivasan | Comp. Sci. | 65000 10101 | CS-101 1 Fall 2017
10101 Srinivasan | Comp. Sci. | 65000 10101 CS-315 1 Spring | 2018
10101 Srinivasan | Comp. Sci. | 65000 | 10101 | CS-347 1 Fall 2017
10101 Srinivasan | Comp. Sci. | 65000 12121 FIN-201 1 Spring | 2018
10101 Srinivasan | Comp. Sci. | 65000 15151 MU-199 1 Spring | 2018
10101 Srinivasan | Comp. Sci. | 65000 | 22222 |PHY-101 1 | Fall 2017
12121 Wu Finance 90000 | 10101 |CS-101 1 |Fall 2017
12121 Wu Finance 90000 | 10101 |CS-315 1 Spring | 2018
12121 Wu Finance 90000 | 10101 |CS-347 1 |Fall 2017
12121 Wu Finance 90000 | 12121 |FIN-201 1 Spring | 2018
12121 Wu Finance 90000 | 15151 |MU-199 1 Spring | 2018
12121 Wu Finance 90000 | 22222 |PHY-101 1 | Fall 2017
15151 Mozart Music 40000 | 10101 CS-101 1 Fall 2017
15151 Mozart Music 40000 | 10101 |CS-315 1 Spring | 2018
15151 Mozart Music 40000 | 10101 CS-347 1 Fall 2017
15151 Mozart Music 40000 | 12121 |FIN-201 1 Spring | 2018
15151 Mozart Music 40000 | 15151 |MU-199 1 Spring | 2018
15151 Mozart Music 40000 | 22222 |PHY-101 1 | Fall 2017
22222 Einstein | Physics 95000 10101 |CS-101 1 | Fall 2017
22222 Einstein | Physics 95000 | 10101 |CS-315 1 Spring | 2018
22222 Einstein | Physics 95000 | 10101 |CS-347 1 | Fall 2017
22222 Einstein | Physics 95000 12121 |FIN-201 1 Spring | 2018
22222 Einstein | Physics 95000 15151 MU-199 1 Spring | 2018
22222 Einstein | Physics 95000 | 22222 |PHY-101 1 | Fall 2017

44



Cartesian Product Operation (Cont.)

*  Oinstructor.id = teaches.id (inStr uctor X teaches))

‘ instructor.ID ‘ name ‘ dept_name ‘ salary ‘ teaches.ID ‘ course_id | sec_id ‘ semester ‘ year |

10101 Srinivasan | Comp. Sci. | 65000 | 10101 | CS-101 1 | Fall 2017
10101 Srinivasan | Comp. Sci. | 65000 | 10101 | CS-315 1 Spring | 2018
10101 Srinivasan | Comp. Sci. | 65000 | 10101 | CS-347 1 | Fall 2017
12121 Wu Finance 90000 | 12121 |FIN-201 1 |Spring |2018
15151 Mozart Music 40000 | 15151 |MU-199 1 |Spring |2018
22222 Einstein | Physics 95000 | 22222 |PHY-101 1 | Fall 2017
32343 El Said History 60000 | 32343 | HIS-351 1 |Spring |2018
45565 Katz Comp. Sci. | 75000 | 45565 | CS-101 1 |Spring |2018
45565 Katz Comp. Sci. | 75000 | 45565 | CS-319 1 |Spring |2018
76766 Crick Biology 72000 | 76766 | BIO-101 1 | Summer | 2017
76766 Crick Biology 72000 | 76766 |BIO-301 1 | Summer | 2018
83821 Brandt Comp. Sci. | 92000 | 83821 | CS-190 1 | Spring |2017
83821 Brandt Comp. Sci. | 92000 | 83821 |CS-190 2 | Spring |2017
83821 Brandt Comp. Sci. | 92000 | 83821 | CS-319 2 | Spring |2018
98345 Kim Elec. Eng. | 80000 | 98345 |EE-181 1 |Spring |2017
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Composition of Operations

» Build expressions using multiple operations
= E.g., O'Azc(r X S)

A | B c D |E A|B|C|D|E A|B|C|D]|E
a | 1 a | 10| a |l | a|l0]|a | 1| al| 10| a
B 10| a a|1l|pg 10| a 2 20 | a
gl 2 Bl20| b a| 1| p|20]b g 2 g 20 | b
r y |10| b a|l |y 10| b
< Pl 2| a|l0] a
2 10
. g . gzo o Oa=c(T X 5)
relations r, s gl2lyl10lb
rXs
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Rename Operation (BERIZH)

Allows us to name, and therefore to refer to, the results of
relational-algebra expressions.

- E.g., px(E) returns the expression E under the name X
If a relational-algebra expression E has arity n

~ PX(AyAy,..a,)(E) returns the result of expression E under the name X,
and with the attributes renamed to 44, 4,, ..., A,
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Notes about Relational Languages

Each query input is a table (or a set of tables)
Each query output is a table.
All data in the output table appears at leat in one of the input

tables
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Schema for Following Examples

branch account depositor customer
branch-name {—l_ account-number <—|_ customer-name »| customer-name
bmnch—city branch-name account-number customer—street
assets balance customer—city

loan borrower
loan-number <—|— customer-name
branch-name loan—number

branch (branch name, branch_city, assets)

amount

customer (customer_name, customer_street, customer_city)

account (account number, branch_name, balance)
loan (loan_number, branch_name, amount)
O T Y g
depositor (customer name, account number)
S e g S ., W g

borrower (customer name, loan number)
S S W g S G, W g




Example Queries (1)

Find all loans of over $1200

0 amount>1200 (loan)

Find the loan number for each loan of an amount greater than
$1200

I loan_number (aamount>1200 (loan))
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Example Queries (2)

Find the names of all customers who have a loan, an account, or
both, from the bank

n customer_name (b orrowe 1‘) ¥/ customer_name (de pos ltO‘l‘)

o1



Example Queries (3)

»  Find the names of all customers who have a loan at the Perryridge
branch

chstomer_name (Gbranch_name ="Perryridge”

(O-bor'r'ower'.loan_number' = Ioan.loan_number'(bor rower x ,OCM)))

* Find the names of all customers who have a loan at the Perryridge
branch but do not have an account at any branch of the bank

chstomer'_name (Gbr'anch_name = “"Perryridge”
(Gbor'r'ower'.loan_number = Ioan.Ioan_number(borr'ower' X |OGI‘I))) - chstomer_name(depos”or‘)
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Example Queries (4)

»  Find the names of all customers who have a loan at the Perryridge

branch
* Query 1
chs‘l’omer'_narne(Gbr'anch_name = "Perryridge”
(Gborrower.loan_number' = Ioan.Ioan_number(bor'r'ower' X |OGN)))
* Query 2

chsfomer‘_name(cloan. loan_number = borrower.loan_number
«Gbr'anch_name = “Perryr‘idge"(loan)) X bOl“l“OWCl"))

53



Example Queries (5)

Find the largest account balance

Strategy:
- Find those balances that are not the largest
- Rename account relation as d so that we can compare each account
balance with all others
- Use set difference to find those account balances that were not
found in the earlier step

l_[balance(acco"'n t)

- l_[accoumt.balance
(Gaccount.balance < d.balance (GCCOUHt X Pd (GCCOUﬂt)))
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Relational Expressions

A basic expression in the relational algebra consists of either one of the
following:
- A relation in the database

- A constant relation, e.g., {(22222, Einsteir, Physics, 9500), (76543, Singh,
Finance, 80000)}

Let E; and E;, be relational-algebra expressions, the following are all
relational-algebra expressions:

- E{UE,

- E{—E,

- E{XxE,

- o0,(E1), Pisapredicate onattributes in E;

- I4(Eq), Sisalist consisting of some of the attributes in E;

- px(Ey), X is the new name for the result of E;
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Additional Operations

Additional operations

- Set intersection ((E832)
Natural join (EZAER)
Outer join (JMER)
Division (f§)

Assignment (Tit{E)

Additional operations do not add any power to the relational
algebra, but simplify common queries
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Set Intersection Operation

Notation: rns = {t|t e rand t € s} - S
- 1, s have the same arity
- the attributes of r and s are compatible
- Note:rns=r—(r—s)
r—s
Relationsr, s: |A | B Al B
o | 1 o 5
a | 2
B | 1 P | 3
S
.
rnNs: Al B




Set Intersection Operation (Cont.)

E.g., Find the set of all courses taught in both the Fall 2022 and
the Spring 2023 semesters.

l_Icour'se_id (O- semester= ‘Fall” A year=2022 (section)) M

Hcourse_id (O- semester= “Spring” A year=2023 (Section))
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Natural Join Operation

Notation: r > s
Let r and s be the relations on schemas R and S respectively. Then
r < s is a relation on schema R U S obtained as follows

- Consider each pair of tuples t, from r and t; from s

- If t, and t,; have the same value on each of the attributesinRn S, add a
tuple t to the result, where

e t has the same value as t, on r
e t has the same value as t; on s

E.g..R=(A B, C, D), S=(E,B,D)
- Result schema: (4,B,C,D,E)
- rXsis deﬁned as. Hr.A, r.B,r.C,r.D, s.E(ar.B:s.B Ar.D=s.D (T X S))
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Natural Join Operation(cont.)

Let r(R) and s(S) be relations without any attributes in common,

ie, RNnS=0.Then,rxs=rxs
0 - join operation
- An extension to the natural- join operation that allows us to combine
a selection and a Cartesian product into a single operation.

- Consider relations r(R) and s(S), and let 6 be a predicate on
attributes in the schema R U S. The theta join r x4 s is defined as

follows: r xg s = 04(1 X 5)
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Join Operation - Example

rr A B¢ s:BE

. al bl 5 bl 3

Relations r, s al b2 6 b2 7

a2 b3 8 b3 10

a2 b4 12 b3 2

b 2
A B CE A RB C SBE ARBCSBE
al bl 5 3 al bl 5 bl 3 al bl 5 b2 7
al b2 6 7 al b2 6 b2 7 al bl 5 b310
a2 b3 810 a2 b3 8 b3 10 al b2 6 b2 7
a2 b3 8 2 a2 b3 8 b3 2 al b2 6 b3 10
a2 b3 8 b310

rxs r Nr.B:s.B S Tr MC<E S
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An extension of the join operation that avoids loss of information

Computes the join and then adds tuples from one relation that does

not match tuples in the other relation to the result of the join

Uses null values:
- null signifies that the value is unknown or does not exist

- All comparisons involving null are (roughly speaking) false by definition.
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Outer Join - Example

| loan-number | branch-name amount | | customer-name loan-number

L-170 Downtown 3000 Jones L-170

L-230 Redwood 4000 Smith L-230

L-260 Perryridge 1700 Hayes L-155

Relation loan Relation borrower
| loan-number | branch-name | amount |customer-name| | loan-number | branch-name | amount | customer-name
L-170 Downfown | 3000 | Jones L-170 Downtown 3000 | Jones
L-230 Redwood 4000 | Smith L-230 Redwood 4000 | Smith
L-260 Perryridge 1700 null
Inner Join: loan X Borrower Left Outer Join: loan _PX| Borrower

| loan-number | branch-name | amount | customer-name |

| loan-number | branch-name | amount | customer-name | 170 Downt 3000 | J
L-170 Downtown 3000 Jones i o mith
230 R o PP Smith L-230 Redwood 4000 Smith
L-155 e”woo p Hm' L-260 Perryridge 1700 null

- nu nu ayes L-155 null null Hayes

Right Outer Join: loan X_ borrower Full Outer Join: loan 2X_ borrower
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Division Operation

Notation: r = s
- 1 and s are relations on schemas R and S, respectively
e R=(Ay,..,Ap, By, .., By)
e §=(By,..,Byp)
- The result of r ~ s is a relation on schema R — S = (44, ...,4,,), i.e.,
r+-s={tlte Nz_¢(r) A\Vu € s(tu € )}
A tuple t is inr + s if and only if both of two conditions hold:
- tisinIg_g(r)
- For every tuple t; in s, there is a fuple t,. in r satisfying:
* t.[S] = t[S]
e t[R—S]=t
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Division Operation - Example

Relations r, s :

Al B
a | 1
a | 2
a | 3
S| 1
y | 1
o | 1
o 3
o | 4
el 6
e| 1
LBl 2
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Division Operation (Cont.)

Definition in tferms of the basic algebra operation
- Let r(R) and s(S) be relations, and let S € R
- r+s=Ig s(r) —Ng_s((Ig_s(r) X s) — Mg_s5(r))
To see why
- Ig_ss(r) simply reorders attributes of r

- HR—S((HR—S(T) X S) — HR_Sls(r)) giveS Those '|'LIp|€S t ln HR—S(T) SUCh

that for some tupleu € s, tu ér
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Assignment Operation

The assignment operation (<) provides a convenient way to express
complex queries
- Write query as a sequential program consisting of
- aseries of assignments
- followed by an expression whose value is displayed as a result of the query
- Assignment must be made to a temporary relation variable
Example: write r + s as:
- tempy < Ig_s(1)
- tempy < lg_s((tempy X s) — Mg_g5(1))
- result = temp, — temp,
The result to the right of the < is assigned to the relation variable
on the left of the «
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Example Queries (6)

- Find all the customers who have accounts from at least the
"Downtown" and the "Uptown" branches

* Query 1
- H¢n(0BN="Downtown"(depositor x account)) N H¢y(0pn="yptown"(depositor
account))
- where CN denotes customer_name and BN denotes branch_name
* Query 2

- I customer_name,branch_name (depos itor » account) ~ P temp(branch_name)
({(“Downtown”), (“Uptown”)})

- Note that Query?2 uses a constant relation
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Example Queries (7)

Find all customers who have an account at all branches located in
Shanghai

- 11 customer_name,branch_name (depos ttor x account) -

n branch_name (o-branch_cityz"s hanghai” (b ranch))
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Extended Relational Algebra Operations

+  Generalized Projection (I Xi%%2
- Aggregate Functions (BB&EHE)
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Generalized Projection

Extends the projection operation by allowing arithmetic functions

to be used in the projection list Iy g, r (E)
- E is any relational-algebra expression

- Each of Fq,F,,...,F, isaarithmetic expression involving constants and

attributes in the schema of E

Given relation credit_info(customer_name, limit, credit_balance),

find how much more each person can spend:

- 1 customer_name, limit—credit_balance (Credlt—lnf O)
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Aggregate Functions and Operations

- Aggregation function takes a collection of values and returns a
single value as a result
- avg: average value
- min: minimum value
- max: maximum value
- sum: sum of values
- count: number of values

- Aggregate operation in relational algebra

= 61,616, IF1(A1),F2(A2),..Fn(4,) (E)
 E is any relational-algebra expression
e G1,Gy, .., G, is alist of attributes on which to group (can be empty)

 Each F; is an aggregate function

+ Each A4; is an attribute name
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Aggregate Operation - Example

Relation r : Al B|C 9 sumie (1) © | Sum(C)
a| al| 7 27
al| p| 7
B| B3
B | B |10

Relation account grouped by branch_name:
| branch_name g sum(balance) (account)

| branch_name | laccount_number]|  balance

Perryridge A-102 400 |branch_name|| _ balance |
Perryridge A-201 900 Perryridge 1300
Brighton A-217 750 Brighton 1500
Brighton A-215 750 Redwood 700
Redwood A-222 700
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Aggregate Functions (Cont.)

Result of aggregation does not have a name
- Can use rename operation to give it a name
- For convenience, we permit renaming as part of aggregate operation

branch_name 9 sum(balance) as sum_balance (account)
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Null Values

- Tt is possible for tuples to have a null value for some of their
attributes

- null signifies an unknown value or that a value does not exist
+  The result of any arithmetic expression involving null is null
- Aggregate functions simply ignore null values

- Isanarbitrary decision? Could have returned null as result instead?
- We follow the semantics of SQL in its handling of null values

- For duplicate elimination and grouping, null is tfreated like any other
value, and two nulls are assumed to be the same

- Alternative: assume each null is different from each other
- Both are arbitrary decisions, so we simply follow SQL

76



Null Values

Three-valued logic (={EiZ48) using the truth value unknown

- OR: (unknown or true) = true,
(unknown or false) = unknown
(unknown or unknown) = unknown

- AND: (true and unknown) = unknown,

(false and unknown) = false,

(unknown and unknown) = unknown

- NOT: (not unknown) = unknown
- In SQL "P is unknown" evaluates to true if predicate P evaluates to unknown

Result of select predicate is treated as false if it evaluates to unknown
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Modification of the Database

The content of the database may be modified using the following
operations:

- Deletion

- Insertion

- Updating

All these operations are expressed using the assignment operation
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A delete request is expressed similarly to a query, except instead of
displaying tuples to the user, the selected tuples are removed from

the database
- Can only delete whole tuples

- cannot delete values on particular attributes

A deletion is expressed in relational algebra by:

- r<r—E, whererisarelation and E is a relational algebra query
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Deletion Examples

- Delete all account records in the Perryridge branch.
account < account = G ppanch_name = “Perryridge” (@ccount)

+ Delete all loan records with amount in the range of O to 50
loan « loan = & amount >0and amount < 50 (loan)

- Delete all accounts at branches located in Shanghai

ry <o branch_city = “Shanghai” (account N br anCh)

r; < H account_number, branch_name, balance ( ry )

r3 < H customer_name, account_number (r 2 N deposrl'or')
account < account - r,

depositor < depositor - r;
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Insertion

To insert data into a relation, we either:
- specify a tuple to be inserted
- write a query whose result is a set of tuples to be inserted
In relational algebra, an insertion is expressed by:
- 1< 1rUE,whererisarelation and E is a relational algebra expression.

- The insertion of a single tuple is expressed by letting E be a constant

relation containing one tuple
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Insertion Examples

 Insert information in the database specifying that Smith has
$1200 in account A_973 at the Perryridge branch.

account « account U {(A_973, "Perryridge”, 1200)}
depositor « depositor U {("Smith”, A_973)}

* Provide as a gift for all loan customers in the Perryridge branch, a
$200 savings account. Let the loan number serve as the account
number for the new savings account.

ry < (Gbr’anch_name = "Perryridge” (bOf‘ rower NlOGﬂ))
account <« account I—[Ioan_number', branch_name, 200 (f' 1)

deposrl'or' <« dZPOSI tor U chstomer_name, Ioan_number(r 1)
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Updating

A mechanism to change a value in a tuple without changing all
other values in the tuple

Use the generalized projection operator to do this task
- rellg g, p(T)
- Each F; is either
* the ith attribute of r, if the ith attribute is not updated, or

* if the attribute to be updated, F; is an expression, involving only
constants and the attributes of r, which gives the new value for
the attribute

83



Update Examples

*  Make interest payments by increasing all balances by 5 percent.
account « II 4N an, aL * 1.05 (@account)

where AN, BN and BAL stand for account_number, branch_name and balance,
respectively

- Pay all accounts with balances over $10,000 6 percent interest and
pay all others 5 percent

account « IT an, en, BaL * 1.06 (O BaL > 10000 (@ccount))
U Tl en, BaL * 1.05 (CsaL < 10000 (@account))
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Updating

To select some tuples from r to update, we can use the following

expression:

re<IHg g, g (op(r) VU —op())

where P denotes the selection condition that chooses which tuples to

update
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In some cases, it is not desirable for all users to see the entire
logical model

Consider a person who needs to know a customer’s loan number but
has no need to see the loan amount. This person should see a
relation described, in the relational algebra, by

I customer_name,loan_number,branch name (b orrower X loan)

Any relation that is not of the conceptual model but is made visible
to a user as a "virtual relation” is called a view

86



A view is defined using the create view statement which has the form
create view v as < query expression >

- Once a view is defined, the view name can be used to refer to the
virtual relation that the view generates

- View definition is not the same as creating a new relation by evaluating
the query expression
- Rather, a view definition causes the saving of an expression

- the expression is substituted info queries using the view
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View Examples

+ Consider the view (named all_customer) consisting of branches and
their customers

create view all _customer as
I—Ibr'anch_name, customer_name (depos:tor' N account)

U I—[br'anch_name, customer_name (bOf‘ rower N ’Oan)

*  We can find all customers of the Perryridge branch by writing:

chstomer'_name (Gbranch_name = "Perryridge” (all_CUStomer ))
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Updates Through View

Must be translated to modifications of the actual relations

Consider the person who needs to see all loan data in the loan relation
except amount. The view given to the person, branch_loan, is defined as:

create view branch_loan as My, q.ch name loan numper(loan)

Since we allow a view name to appear wherever a relation name is allowed,
the person may write:
branch_loan < branch_loan U {("Perryridge",L_37)}

An insertion into relation loan requires a value for amount. The insertion
can be handled by either.

- rejecting the insertion
- inserting a tuple (L_37, "Perryridge”, null)
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Updates Through Views (Cont.)

- Some updates through views are impossible to translate into database
relation updates
create view v as (Gbranch_name="Perryridge" (account)

v < vU (L 99, "Downtown", 23)

* Others cannot be translated uniquely
create view all_customer as

1—Ibranch_name, customer_name (depos:tor' N account)
o I—Ibr'anch_name, customer_name (bOI" rower N IOCU"I)

all_customer < all_customer U {(Perryridge, "John")}
- Have to choose loan or account, and create a new loan/account number
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Views Defined Using Other Views

One view may be used to define another view

A view relation vis said to depend directly (E#{Kif) on a view

relation v, if v, is used in the expression defining v4

A view relation v, is said to depend ({<jft) on view relation v, if
either v, depends directly to v, or there is a path of

dependencies from v, to v,

A view relation v is said to be recursive (3%!3) if it depends on
itself
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View Expansion

A way to define the meaning of views defined in terms of other views

Let view v; be defined by an expression e; that may itself contain
uses of view relations
View expansion of an expression repeats the following replacement
step:
repeat
Find any view relation v; in e,
Replace the view relation v; by the expression defining v;
until no more view relations are present in e4

As long as the view definitions are not recursive, this loop will
terminate
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- Relation/table

- Attributes, domain, null value
- Keys: superkeys, candidate keys, primary keys, foreign keys
- Relational schema, relation instance, tuple

- Relational Database
- A sef of relations connected by foreign-key constratints
- Database schema/database schema diagram

- Relational algebra

- Basic operations
select o, project I1, Cartesian product x, set union U, set difference -, rename p

- Additional operations
set intersection N, natural join i, conditional join, outer join, division +, assignment <«

- Generalized projection and aggregate functions
- Insertion, delete, update

« View
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Exercises

- 2.1,2.6,2.7, 2.8, 2.15, 2.18

- Submission

- E-learning®%t, L{EEPwordaiZEPDFI {4
- Deadline: 12:00pm, April 13, 2024
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End of Lecture 2
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